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—BHEER (T838) (F3d)
EAXHE FRAEXS (M) REEHEEM
0~5 751.3M./m
51 ~ 10 729.3M./m
1,870M 101 ~ 15 707.3M./m
15.1 ~ 20 663.3M.”m
20.1~ 619.3M./m
LPHREAEIC&ZHEH (Z8%) ($Ed)
EARE (m) CRHERTAHE
5 m 5,627M
10 m 9,273M
20 m 16,126/
XEAHESHEENE (ERAExREHSEM) =ERAOHRHE
) LPAR 15m ERBDOIHES
MR : Exie 1870M +  frEays 10940M =  12,810M
@4 10940 = 5m x 751.3M 7293 + 5m X

OLPH AP EDHEMEAITDONT

BE4t (3, LPAANEDERILER S0, TRMEREGE I(RHEOLEHIISCTHEREMERE

TARBEIEEALTNET,
XIERBE L]

LPARDCHAMN G THE A EEWERFE - RRARE- REBEH) TEILLWEHETT,

MIEENELE

LPARDZEARAZICKHLTEILLW=1{HETT,

Q@ I7ATANVDEB/LEETS
MU T BEHRO-—XICEhEHALHETSUECRELTRYET,
BT IV HRBBZRECHROEER)
BEEIIVEEHBRECHAOEER

BREEEE
BRSSP/ TA(#BELAEVWVS—ER
LPA Rt %— 0184-28-5687




